5/16/22, 3:37 PM https://g01.tcsion.com/CAE/viewHtmIPDFAction.action

Computer Proficiency Certification Test

Notations :
1.Options shown in green color and with ¥ icon are correct.

2.0ptions shown in red color and with * icon are incorrect.

ComputerProficiencyCertificationTest 15th May

Question Paper Name : 2022 Shift 1

Subject Name : Computer Proficiency Certification Test
Creation Date : 2022-05-15 13:10:15
Duration : 120
Total Marks : 75
Display Marks: Yes
Share Answer Key With Delivery Engine : Yes
Actual Answer Key : Yes
Calculator : None
Magnifying Glass Required? : No
Ruler Required? : No
Eraser Required? : No
Scratch Pad Required? : No
Rough Sketch/Notepad Required? : No
Protractor Required? : No
Show Watermark on Console? : No
Highlighter : No
Auto Save on Console? Yes
Change Font Color : No
Change Background Color : No
Change Theme : No
Help Button : No
Show Reports : No
Show Progress Bar : No

CPCT

Group Number : 1

Group Id : 2549893697
Group Maximum Duration : 75

Group Minimum Duration : 75

Show Attended Group? : No

Edit Attended Group? : No

https://g01.tcsion.com/CAE/viewHtmIPDFAction.action

1/51



5/16/22, 3:37 PM
Break time :
Mandatory Break time :
Group Marks :
Is this Group for Examiner? :
Examiner permission :
Show Progress Bar? :

https://g01.tcsion.com/CAE/viewHtmIPDFAction.action

1

Yes

75

No

Cant View
No

COMPUTER PROFICIENCY AND PROFICIENCY IN GENERAL
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Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Display Number Panel :

Enable Mark as Answered Mark for Review and Clear

Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

2549895909
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Online
Mandatory
52

52

52

Yes

Yes

0

1
2549895950
Yes

Question Number : 1 Question Id : 2549896249 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A(n) contains commands that can be selected.

Options :

1. * Pointer
2. ¥ Menu
3. * Icon

4. % Button

Question Number : 1 Question Id : 2549896249 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1GT ¥ Hagyd g §, o Saae faman o Iaar g

Options :
1. aﬂs \J .
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2. ¥ I
3. % 3IZhIT
4. % §cd

Question Number : 2 Question Id : 2549896327 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Consider you are using MS Access 2010, which of the following MS Access data types is used to store text
that is too long to be stored in a Text field?

Options :

1. # Text

2. % Number
3. ¥ Memo

4. % Currency

Question Number : 2 Question Id : 2549896327 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3T MS Access 2010 BT ITATT HR I & ol (ERIRA H T fhd MS Access ST UHR &1 JUUNT SRS B
WR FX & foTE fordT It § S CoRe Wics | SUeId 814 & (o 9gd dall 82

Options :

. % TR

2. % R

3. ¢ TAl

4, % H!

Question Number : 3 Question Id : 2549896378 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following can be used to enter and edit data, instead of directly editing in the cells, in a
worksheet?

Options :

1. ¥ Formula bar
2. * Title bar

3. % Menu bar

4. % Name Box

Question Number : 3 Question Id : 2549896378 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

Fafalea & I fege wan ser o We Ial § grifed o4 & 991 T adhfie § gof 3R Jwred
B & forg fpar ST 82

Question Number : 4 Question Id : 2549896395 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With respect to operating systems, GUI stands for:
Options :

1. ¥ Graphical User Interface

2. # Greater User Interface

3. % Global Union Interface

4. # Graphical User Interest

Question Number : 4 Question Id : 2549896395 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TR Reen & ey H, Gul &1 guf =0 Far g2
Options :

1. ¢ Uifthehd Yo} S (Graphical User Interface)
2. % YR Yo} EQTW (Greater User Interface)

3. % T AT $eWY (Global Union Interface)
4, ® 1;l'fm?{GR_Q;'EQ_"\?_'(Graphical User Interest)

Question Number : 5 Question Id : 2549896544 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The computer memory used for temporary storage of data and program is called:
Options :

1. ¥ ROM

2. % Sector

3. ¥ RAM

4. ¥ EPROM
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Question Number : 5 Question Id : 2549896544 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ST 3R TR & SRR HSRUT & 1T U1 &1 o1 aTel! e HURT &1 &l gl oIl 87
Options :

1. * ROM

2. % YR

3. ¥ RAM

4. = EPROM

Question Number : 6 Question Id : 2549896567 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Devices that are attached to a computer, such as monitor, keyboard, are called:
Options :

1. * Programs

2. % CPU

3. ¥ Peripherals

4. % Registry

Question Number : 6 Question Id : 2549896567 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fEarz i HeR A IS Bid §, S HiFeR, PIals, 98 I HEaNd &2
Options :

1. % YIUe

2. % CPU

3. ¢ URTRE

4. % ST

Question Number : 7 Question Id : 2549896593 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Logical operations in a computer are performed by:
Options :

1. * Registers

2. % Control unit

3.¥ ALU

4. % Memory unit
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Question Number : 7 Question Id : 2549896593 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SR H Alfhe Tarer (9 8 & fopges gRT e omal 82
Options :

1. % AR

2. % 40T fgumT

3.9 ALU

4. % AARI 3BT

Question Number : 8 Question Id : 2549896851 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The connects all system components and allows input and output devices to communicate with the
system unit.

Options :

1. * monitor

2. ¥ mother board
3. % mouse

4. % RAM

Question Number : 8 Question Id : 2549896851 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Tt Rer geal & SiisdT § 3R Riked gfe & 91y TG B+ & o1t 37Yc 3R $m3eye
fEarsy &1 srgAfd ST gl
Options :
1. % AR
2. ¥ AR S
3. % HI3H
4. %39

Question Number : 9 Question Id : 2549897276 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following options is used with Is command to display permissions along with file and directory
name in Linux?

Options :
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I. % x
2.9 -]
3.%

4. % -a

Question Number : 9 Question Id : 2549897276 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Linux H, BTEd 3R SR} 4 & 1Y A velRid & & fw s wris & iy g # 3 fog
ey &1 IuanT fHar Sirar g2

Options :
1. % x
2.9 -]
3.%

4. % -a

Question Number : 10 Question Id : 2549897723 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

is user-modifiable read-only memory (ROM) that allow users to erase and reprogram stored data
repeatedly in an application.

Options :

1. ¥ EEPROM
2. #* audio RAM
3. ¥ multimedia
4. # video RAM

Question Number : 10 Question Id : 2549897723 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

, STONTHl-uRad-1g Ts-3e AR (ROM) B S STaRTEHdref oI foradt Tt
TR ST B TR-IR e 3R G: UM &4 &1 SAfd Sar 8|

Options :

1. ¥ EEPROM

2. % IfSTH (RAM)
3. % TecHifSar

4. % FfST T (RAM)

Question Number : 11 Question Id : 2549898872 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

can create an organizational chart, a decision tree, a pyramid or matrix structure, illustrate steps
in a process, or display events in a timeline.

Options :

1. # Table

2. ¥ Smart Art
3. * Video

4. % Pivot Chart

Question Number : 11 Question Id : 2549898872 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TH SRS d1e, T fSReH ¢, ter fRIfis a1 Afeey TRa1 941 9ahd §, T ihar
T TRON T qUi B Tl g, o1 U AR & Teal &) yeRid B gl B

Options :

1. % <9

2. ¥ HIC 3MTE
3. % difea
4. % fUgeare

Question Number : 12 Question Id : 25498910959 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

allows communications between computers connected via local area network (LAN) as well as
communications over large-scale network through Internet Protocol (IP).

Options :

1. # parallel ports

2. % Network Interface Card
3. % serial ports

4. % USB ports

Question Number : 12 Question Id : 25498910959 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e URAT Yedd (LAN) & HTEIH ¥ T S| & o9 3R 1Y g See Weldbid (IP) &
T Y 98 TAM & Aedd R TOR 31 3l ST |

Options :
1. % TAd Urcy
2. ¢ HTdd $BY Bl
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3. % Hifvaga uicy
4, ® QEFﬁ“ Ci|é§|

Question Number : 13 Question Id : 25498911595 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : (

Correct Marks : 1 Wrong Marks : 0

Storage which stores or retains data after power is turned off is called:
Options :

1. # volatile storage

2. ¥ non-volatile storage

3. # sequential storage

4. % direct storage

Question Number : 13 Question Id : 25498911595 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : (

Correct Marks : 1 Wrong Marks : 0

TR, St faoTell ¢ 811 & J1¢ 30U ST & ¥R T 304 U 39dT 8§ 39 A 7 I forg uer defia
[CRIRSIRIRR

Options :

1. % JRR@IACZ) RS

2. ¢ R-IURRAM-AACE) TR
3. % 3{Ih D THRT) TRl

4. % Y& (STRAT) LIRSl

Question Number : 14 Question Id : 25498930060 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A typical action sequence for any biometric system is:
Options :

1. ¥ capture, enroll in database, match, recognition decision
2. # capture, enroll in database, retrieval, encrypt

3. % capture, encrypt, enroll in database, retrieval

4. # encrypt, store, decrypt, match

Question Number : 14 Question Id : 25498930060 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

foaft off SRR s womeht § S ¥ forar S aren fafRiy ufafear 0w gar g2
Options :
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1. ¢ 3Hd B (FER), Seag H AHiGT (TRIA 39 Sere ), fBram (@), ygar fHufg (Refrm

2. % JHRIFHd AT (FER), SeIad T AHET (TR 37 Sced), I: Wi (Rergaq), ufhy
3. % JfIHd AT (PER), THY, Sre H ATHIG (TRIA 39 Sead), T: Wi (Rergaa)
4. % Ufpy, YR (XR), {8y, firam @)

Question Number : 15 Question Id : 25498930382 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
supersedes the DVD.

Options :

1. % CD

2. ®# Magnetic disk

3. # Magnetic tape

4. ¥ Blue Ray disc

Question Number : 15 Question Id : 25498930382 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
9 3HdEt (DVD) &1 R forar 3|
Options :
1. % TSt (CD)
2. % gao iy & h
3. % gadig ey
4. ¢ I e

Question Number : 16 Question Id : 2549898152 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ugd gz gl (TR i Riew) &1 U 3aeru g

Options :

1. % T

2. ¢ AT XhA
3. % TP

4. % gl Wic

Question Number : 16 Question Id : 2549898152 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : 0 Minimum Instruction Time : 0

https://g01.tcsion.com/CAE/viewHtmIPDFAction.action 10/51



5/16/22, 3:37 PM https://g01.tcsion.com/CAE/viewHtmIPDFAction.action
Correct Marks : 1 Wrong Marks : 0
1s an example of an access control system.
Options :
1. # Internet
2. ¥ Retina Scan
3. % Wi-Fi
4. % Hotspot

Question Number : 17 Question Id : 2549898252 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SR TR & T<H #, F2 f5um a1 g3t Iuffd feam &t dao-ite & Hel ST |
Options :
1. % faadmifd
2. & TN
3. % Wh
4. % qI

Question Number : 17 Question Id : 2549898252 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In terms of computer security, refers to the technique of hiding something or giving a false
appearance.

Options :

1. % Clickjacking
2. % Cloaking

3. % Spam

4. % Bug

Question Number : 18 Question Id : 2549899593 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fiex gRR T T2

Options :

1. ¢ QoI

2. % GISAW

3. % JITHAWR

4. % HITAWR
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Question Number : 18 Question Id : 2549899593 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : 0 Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0
The printer driver is:

Options :

1. ¥ a software

2. % 3 hardware

3. % a VMware

4. % 3 malware

Question Number : 19 Question Id : 25498910770 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T (Unix) STORFET Ried & Tay & fafafad § § $H-91 Y7 3™ (FALSE) §?
Options :

1. % I8 U FRR HTRfET Rer g

2. % T8 TP Hee! Ior SHTRfT Rer g |

3. ¢ Ug Wb dl golk Sy UeH gl Ba gl

4. % g U A T TR Rieer 3

Question Number : 19 Question Id : 25498910770 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements with respect to Unix Operating System is FALSE?
Options :

1. # It is a stable Operating System.

2. ® It is a multi-user Operating System.

3. ¥ It does not provide Graphical User Interface.

4. % It is a multi-tasking Operating System.

Question Number : 20 Question Id : 25498911207 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

WRIYS (3feeMIAG) a3 & ey &, FofaRed § § oH-9 sy 9 82

Options :

1. % 3[R gl & &= Ul & fog e ST &t HUT HHT T BIC Bid & |

2. % TG AP (sonic) Tgd HH A DI SeCRITSS A UR e [T ST g |

3. % SR H 7 e Wil ¥5 § Al G &1 &1 8] grat 2

4. ¢ TS TTTSTIR Th T JUB ¢ ForIesT ITTNT fhdlt 310 UHR B Soll b ST —b
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U H dea & o far ST g |

Question Number : 20 Question Id : 25498911207 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : (

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is true with reference to ultrasonic waves?

Options :

1. % Vibrations of ultrasonic frequencies are smaller than the upper limit of the audible range for humans.
2. % The term 'sonic' is applied to ultrasound waves of very low amplitudes.

3. * Animals do not have the ability to hear sounds in the human ultrasonic frequency range.

4. % An ultrasonic transducer is a device used to convert some other type of energy into an ultrasonic
vibration.

Question Number : 21 Question Id : 25498913379 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafafed & @ S, T 389 HURE dH-id T8 § e SUTNT HIRTHIS (Facsimile) H fard
ST 87

Options :

1. % ASHEs gHhHA

2. % HISHhIES HIShES IS

3. % Aiighss e

4. IR USHES gHaA

Question Number : 21 Question Id : 25498913379 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an image compression technique used in Facsimile?
Options :

1. % Modified Huffman

2. % Modified Modified Read

3. # Modified Read

4. % Super Modified Huffman

Question Number : 22 Question Id : 25498913916 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I D I TefId [P TSH & Ugd 3ifdce & I 3iTex foey gaen frd IR ¥e gid g2

Options :
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1. #* 0011
2.¥ 1110
3. % 0000
4. % 1111

Question Number : 22 Question Id : 25498913916 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The higher order bits of the first octet of [P addresses belonging to the class D are always set to:
Options :

1. % 0011

2.9 1110

3. % 0000

4. % 1111

Question Number : 23 Question Id : 25498918463 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to spooling in the I/O system, which of the following statements is true?
Options :

1. # A spooler is a limited area in the main memory.

2. % Spooling is less efficient than buffering.

3. # Spooling overlaps the input/output of one job with the execution of the same job.

4. % Spooling is more efficient than buffering.

Question Number : 23 Question Id : 25498918463 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

10 Ren & wfei & ded &, Fofiafed § @ sH-wr s aa 82

Options :

1. % WeR oI TR & Ue ifd 8 5

2. % e IHRT 9 H $ 5|

3. % Wi U B & Ye/3MT3TYC ! 3T (FHM) B & e & Iy 3arved BT & |
4. IO B gA1 H Yl 1fF HI B

Question Number : 24 Question Id : 25498918549 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

YIS &1 IUTANT aaHM BRI e Rt & I ol UefRid 1 & e fhar srar gl
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Options :
1. ¥ pwd
2. % Is
3. % cat
4. % md

Question Number : 24 Question Id : 25498918549 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The  command is used to display the location of the current working directory.
Options :

1. ¥ pwd

2. % Is

3. % cat

4. % md

Question Number : 25 Question Id : 25498919262 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following protocols is the most important for the functioning of the internet?
Options :

1. * Token bus

2. % X35

3. * Ethernet

4. ¥ TCP/IP

Question Number : 25 Question Id : 25498919262 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafoiRad # ¥ HIH-91 Uieipid $exc & BHSBS & o7 I Hedqul &2
Options :

1. # EPIWW(TOken bus)

2. % X35

3. % gc‘qqﬁa (Ethernet)
4. % TCP/IP

Question Number : 26 Question Id : 25498919303 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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HTML U &1 g & fore fA & 9 forgest Iua fasan Sirdn g2
Options :
1. ¢ 99 ST3OR
2. % g IR
3. % g9 Afy
4. % 9 dcddb

Question Number : 26 Question Id : 25498919303 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is used to read an HTML page?
Options :

1. ¥ Web browser

2. % Web server

3. # Web matrix

4. % Web network

Question Number : 27 Question Id : 25498919356 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Li-Fi uses normal LEDs to allow the data to transfer and increase the speed up to 224 Gigabits/sec.

In this regard, Li-Fi stands for:
Options :

1. ¥ Lithium Fidelity

2. ¢ Light Fidelity

3. # Linked Fidelity

4. % Limited Fidelity

Question Number : 27 Question Id : 25498919356 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

32T & RITFART HA 3R T B 224 TS/ S dF 96 B STAR G & AT Li-Fi I LED
BT ITINT HRAT G|

39 Y H, Li-Fi T S 182
Options :

1. # foafge feeferd
2. ¢ qrse fhefard!
3. % foigs fhefardt
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4. % fafercs fhsferd

Question Number : 28 Question Id : 25498922675 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : (

Correct Marks : 1 Wrong Marks : 0

T P STIOR | A1 CoRe 3iop A faaTs 16T & T81 & 1 31U CRE BT PR B TGTe?
Options :

1. % 'SHIFT' G&T¢ T 3R '+ Tad

2. % 'ENTER' G&T0 39 3R '+ &MY

3. % 'CAPS LOCK' 8¢ 39 3R '+ GaTd

4. ¢ 'Ctrl' TEE W 3R '+ gAY

Question Number : 28 Question Id : 25498922675 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How do you increase the size of the text within a Google Chrome browser if it is NOT properly visible?
Options :

1. # Hold 'Shift' and press '+'

2. % Hold 'Enter' and press '+

3. % Hold 'Caps Lock' and press '+

4. % Hold 'Ctrl' and press '+'

Question Number : 29 Question Id : 25498924433 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TfpPs Tae ¢ R Tfh e TaRym 1 IUENT 9 ©H CRe I T IR fohaT wirdT |
Options :
1. ¥ TEHRCRC
2. % WHCRS
3. % ISR
4. % foppieae

Question Number : 29 Question Id : 25498924433 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

is encrypted text transformed from plaintext using an encryption algorithm.
Options :
1. ¥ Ciphertext

2. % Plaintext
https://g01.tcsion.com/CAE/viewHtmIPDFAction.action 17/51
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3. % Boldtext
4. % Cryptotext

Question Number : 30 Question Id : 25498925345 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

g 3TY farsiet SiT™(0S) I FHR FI ST FRIWE 6, A WA AS  H I gl
Options :

1. vV KIS

2. % GIERAC HIS

3. % YIS HIS

4. % g3fos AIS

Question Number : 30 Question Id : 25498925345 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If you are using a computer with WINDOWS OS, then the sleep mode is similar to:
Options :

1. ¥ standby mode

2. % hibernate mode

3. % shutdown mode

4. # hybrid mode

Question Number : 31 Question Id : 2549896207 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What do you mean by online chat?

Options :

1. # An internet standard, which all users use to upload and download files.

2. #* An online area on which a user can converse in written form about any special subject.
3. ®* Transmission of files and messages through paper.

4. % A real time typed conversation between two or more users.

Question Number : 31 Question Id : 2549896207 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3{TeTS A Y YT T YR 52

Options :

1. % 3T BT U AHD, ! Aee I 9t gori il udie a1 S13-dS d g
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2. % U A W™, Jgl IR ZoR ford! @ favy IR fafed TR ax 9o 8|
3. % UOX & A7 U WIsdl 3R HaRll &I ¢rIiRH|
4. ¢ QA1 Y 3P Iudiadrsi & dia U arafds &1d (Rad egH) fafad (ersts) dare |

Question Number : 32 Question Id : 2549896450 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The first page that you normally view at a web site is its:
Options :

1. ¥ Home page

2. # Master page

3. *® First page

4. % Banner page

Question Number : 32 Question Id : 2549896450 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Teh JSTZE T UG OS] Off 311U A &, I8 T HEalell 82
Options :

1. ¢ g U

2. % ORI Ul

3. % B Ul

4. % SRUS

Question Number : 33 Question Id : 2549896458 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following browsers was developed by Microsoft?
Options :

1. ¥ Internet Explorer

2. # Mozilla Firefox

3. # Chrome

4. % Safari

Question Number : 33 Question Id : 2549896458 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fFofifEad & ¥ o9 91 ISR ATsshI™Ue gRT fasRid fovam mar ur
Options :
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1. ¥ Internet Explorer
2. % Mozilla Firefox
3. # Chrome

4. % Safari

Question Number : 34 Question Id : 2549896465 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

n

" is a term coined for unwanted and unsolicited e-mail.
Options :

1. ¥ Spam

2. % Trash

3. % Flame

4. % Web

Question Number : 34 Question Id : 2549896465 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

" ' U% YeG g ol 3aifed 3R e 3-09 & fore flear man j
Options :

1. |

2. % F

3. % TR

4. % 99

Question Number : 35 Question Id : 2549897372 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Track change is available in which of the following tabs in MS Word 2016?
Options :

1. # Page Layout

2. #% Reference

3. ¥ Review

4. % View

Question Number : 35 Question Id : 2549897372 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

¢H-dA MS Word 2016 H 99 & & ford ¢ & Iuasd 52
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Options :
1. # Page Layout
2. * Reference
3. ¥ Review

4. % View

Question Number : 36 Question Id : 2549897391 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following shortcut key is used to check spelling and grammar in the document or the selected
text in MS Word 2016?

Options :
1. ® Fl
2. % F8
3. % F5
4. % F7

Question Number : 36 Question Id : 2549897391 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2016 H SiagHe 1 9afd ¢Re | da-1 3R SATHR0 St 5id gq 9 # ¥ SIH-t Aicdhe Hon
T ITANT foha AT 52

Options :

1. % F1

2. % F8

3. % F5

4. & F7

Question Number : 37 Question Id : 2549897469 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the key/key combination to move to the end of a text box in MS PowerPoint 2019?
Options :

1. ¥ END

2. % CTRL+END

3. % ESC

4. % ALT+END

Question Number : 37 Question Id : 2549897469 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

MS PowerPoint 2019 T ¢Re Siaq & 3fd T S & ferd rofl/dolt Taier oam 82
Options :

1. % END

2. ¢ CTRL+END

3. % ESC

4. % ALT+END

Question Number : 38 Question Id : 2549898033 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following supercomputer was recently launched by Indian institute of science in 20227
Options :

1. ¥ EKA

2. ¥ PARAM PRAVEGA

3. % PARAM 8000

4. % ANURAG

Question Number : 38 Question Id : 2549898033 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frafafad # 9 &9 91 YR $ueR g1d g § YR fag IR gR1 2022 # @i e
Options :

1. % EKA

2. ¥ PARAM PRAVEGA

3. ¥ PARAM 8000

4. % ANURAG

Question Number : 39 Question Id : 2549898071 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following events is in the right order to '"Add Legend' in chart in a worksheet in MS Excel?
Options :

1. % Chart > Chart Elements > Legend

2. # Chart Elements > Chart > Legend

3. % Legend > Chart Elements > Chart

4. # Chart Elements > Legend > Chart

Question Number : 39 Question Id : 2549898071 Question Type : MCQ Option Shuffling : Yes Display
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Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

%{I%Excelﬁwaﬁ'dﬁaﬁﬁ?ﬁ@?ﬁw\lsﬁ'@3&&5)$mﬁq%@ﬁﬁﬁoﬁﬂ¥ﬁuc-ﬂﬂ‘sﬁwH
o

Options :

1. ¢ 9TC > 91¢ Uy > Tois

2. % ¢ Ufedey > dA1e > Avls

3. % oS > TIC YfeHey > d1e

4. % ¢ UleH ey > Tiois > dTe

Question Number : 40 Question Id : 2549898076 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS Excel the scale of the secondary vertical axis shows
Options :

1. # values for the non-associated data series

2. % values of a chart that varies in data series

3. % values for the associated data series

4. % yalues of a chart that remains same from data series to data series

Question Number : 40 Question Id : 2549898076 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Excel H, fgatt daad e (sl afiémd ufaas) &1 ufkam fHafafed & @ oo gxifar g2
Options :

1. % IR S A1 8 areh yaarsii &1 e

2. % ¢ & 98 I (dgoT) off STeT faar ¥ firg gid §

3. ¢ Tefed ST YTt &1 g™

4. % 9 & 98 Hed (A7) 11 U STl Rl § g STeT 4aal H IHH I8 &

Question Number : 41 Question Id : 2549898134 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The area including the plot area and area outside it where labels and legends often appear in MS Excel is
called as:

Options :

1. ® Plot area
2. % Chart title
3. ¥ Chart area
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4. % Data label

Question Number : 41 Question Id : 2549898134 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

wWiie & 3R 3P dT6R BT & FoTH dad 3R Aol SRR MS EXCEL A fR@E 38,39 Wl
g

Options :

1. % iic giam

2. % 91¢ Crzed

3.« I1¢ TRAT

4. % ST AT

Question Number : 42 Question Id : 25498910428 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Change Case command is present in group of Home tab in MS Word 2016.
Options :

1. ® Clipboard

2. % Font

3. ®% Paragraph

4. % Styles

Question Number : 42 Question Id : 25498910428 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2016 H, Il pO FHIS EH TS Ig A ANE &
Options :

1. % fqu e (clipboard)

2. ¥ i<

3. % IRTUTH

4. % Il

Question Number : 43 Question Id : 25498910518 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS-Word, the dimension of "Letter" page size is 8.5 inchby  inch.
Options :

1. % 12
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2.¥ 11
3. % 8.5
4. % 10

Question Number : 43 Question Id : 25498910518 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word &, "Letter" U] 5ol &1 SISHRF 8,559 dc] Sl ol
Options :

1. % 12

2.9 11

3. % 85

4. % 10

Question Number : 44 Question Id : 25498910550 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the top and bottom margin value, in Word 2016 documents when normal margin is selected?
Options :

1.¥ 17

2. % 1257

3.% 27

4. % 0.75

Question Number : 44 Question Id : 25498910550 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Gagggrmﬁrﬁwwdmwm & dl Word 2016 gxaraen § 2fitf(er) ik fRae@ren) wifolH a
[ ?

Options :
1. 1"
2. % 1.25"
3. % 2"
4. % 0.75"

Question Number : 45 Question Id : 25498910572 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In MS Word, to remove the indent, we have to place the cursor at the of the first line of the
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paragraph and press the back space key.
Options :
1. ¥ beginning
2. % end
3. * mid of first word

4. * mid of second word

Question Number : 45 Question Id : 25498910572 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word &, $5¢ ®I g & AT, 8H HIR ! 3Jw5e $I Ugdll Algd & TR XGHT 8T 3R o
T Groft I &I BT |

Options :

1. ¢ 3RY

2. % {gHMYA

3. % Ugal Weq &b AL H

4. % I Teg b AAH

Question Number : 46 Question Id : 25498910643 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
MS-Word, MS-Excel etc. are the examples of an:
Options :

1. # Compiler

2. # Operating System

3. % System Software

4. % Application Software

Question Number : 46 Question Id : 25498910643 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word, MS-Excel 3¢ & IaTERUI |
Options :

1. % Hhdd (Compiler)

2. % IR Red

3. % R 9dedd?

4. ¢ TRIIH T JIUCaR

Question Number : 47 Question Id : 25498913303 Question Type : MCQ Option Shuffling : Yes
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : (

Correct Marks : 1 Wrong Marks : 0
The content of EPROM is erased by using
Options :

1. * assembly programming

2. % Electric signals

3. * microprogramming

4. % UV rays

Question Number : 47 Question Id : 25498913303 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

EPROM &1 ITHT (dhee) &l BT ITIRT HRep THreT foar @ fopam) S g |
Options :

1. % 3rEecl TR

2. % faqgd R«

3. % ST

4.« gt (uv) faul

Question Number : 48 Question Id : 25498918943 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which alternative we should use for closing of an application in Windows?
Options :

1. % ALT+F3

2. ¥ ALT+F4

3. % ALT+F5

4. % ALT+F7

Question Number : 48 Question Id : 25498918943 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
WindowsﬁWﬁWﬁ%ﬁmmWWwﬂmwm?
Options :

1. ¥ ALT+F3

2. ¥ ALT+F4

3. % ALT+F5

4. % ALT+F7
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Question Number : 49 Question Id : 25498923950 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which menu item of MS PowerPoint 2016, the "Layout" option appears?
Options :

1. # Insert menu

2. % Home menu

3. # View show

4. % Design menu

Question Number : 49 Question Id : 25498923950 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS PowerPoint 2016 & 5 B 3ffgcH H, "W3M3e [dded G@Ts <l &7

Options :

1. * Insert menu (_er\‘:l—cF ﬁ:D

2. % Home menu (?ﬁ'qﬂ:b

3. ¥ View show (5?1"\’?[)

4. % Design menu (%T}ﬂgq fED

Question Number : 50 Question Id : 25498930576 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which function in MS Excel will return the specified number of characters from the end of a text string?
Options :

1. ¥ LEFT()

2. ¥ RIGHT()

3. % SLN()

4. % PMT()

Question Number : 50 Question Id : 25498930576 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Excel &1 378 § DI 91 tharH fhd] falRiy e R & oid ¥ $o Al siar (@vaeR) ufawd
R FFuF M

Options :

1. ¥ LEFT()

2. % RIGHT()

3. % SLN()
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4. % PMT()

Question Number : 51 Question Id : 25498932164 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In video calls, three or more locations are connected together, where all participants can see and hear
each other.

Options :

1. ¥ multi-point
2. % single-point
3. # virtual-point

4. % real-point

Question Number : 51 Question Id : 25498932164 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : (

Correct Marks : 1 Wrong Marks : 0
ST Bid #, T A1 S RIM IRER IS B &, ool TH TRl T-gak &1 47 iR g
qHd g
Options :
1. ¥ Hecl-Ulse
2. % f¥7e-uige
3. % gg3ra-Uisc
4. % Rga-urge

Question Number : 52 Question Id : 25498934459 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS Excel, are numbered from 1 to onwards.
Options :

1. * columns

2. % sum

3. ¥ rows

4. % FLOOR

Question Number : 52 Question Id : 25498934459 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Excel #, B 1 A M db hHifed fhdT ST g |

Options :
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1. % Hiad
2. % 2?ﬁ"'[(sum)
3. ¢ (rows)
4. % TAR (FLOOR)
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READING COMPREHENSION

Section Id : 2549895910
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 5

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895951
Question Shuffling Allowed : Yes

Question Id : 25498921031 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Question Numbers : (53 to 57)

Read the given passage and answer the questions that follow.

Festivals of China

The Chinese are known throughout the world for their inventions. Apart from silk, paper making, printing,
gunpowder and the compass are the four great inventions of the Chinese in ancient times. Pottery and
porcelain are other great inventions of China. Chinese porcelain is not only useful but is also beautiful. It is
admired for its highly ornamental shapes and colours.

The kite is one of the most popular inventions of ancient China. The Chinese make a great variety of kites.
Some well-known kites of China are Dragon kite, Phoenix kite, Eagle kite, etc. In China, the best season for
kite flying is spring. During the Pure Brightness Festival in April, people pay respect to their ancestors and
then go out and fly kites. Flying kites is one of the most popular forms of recreation in China.

China, being one of the oldest civilisations, has a number of festivals. Spring Festival is the oldest and the
most important festival. Starting on the Chinese New Year Day, it lasts for 15 days. People have a family
dinner on New Year’s Eve. On the New Year Day, they paste couplets over their doors and set off fire
crackers. On the 5th day, is the Lantern Festival. People decorate their houses with beautiful, coloured paper
lanterns. During the festivities, the Chinese fly kites and hold kite-flying competitions.

Today China is changing. The Chinese are giving up their old ways of life. A modern Chinese wears western
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clothes and lives in western style apartments. There are skyscrapers, restaurants and modern highways in
China.

Sub questions

Question Number : 53 Question Id : 25498921032 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is Chinese porcelain known for?
Options :

1. ¥ Its colours and patterns.

2. # Its great variety.

3. % Its recreational quality.

4. # TIts ancestral value.

Question Number : 54 Question Id : 25498921033 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : (

Correct Marks : 1 Wrong Marks : 0

Which of the following is the most popular invention of China?
Options :

1. * paper making

2. % printing

3. ¥ kite

4. % compass

Question Number : 55 Question Id : 25498921034 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the oldest festival in China?
Options :

1. # Lantern Festival

2. % Spring Festival

3. ® Pure Brightness Festival

4. % Xite Flying Festival

Question Number : 56 Question Id : 25498921035 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
As per tradition, the Chinese fly kites:
Options :
1. # on New Year’s Eve
2. % during the Lantern festival
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3. ® on New Year Day

4. % after paying respects to their ancestors

Question Number : 57 Question Id : 25498921036 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What among the following shows that the Chinese are becoming modern?
Options :

1. ¥ They are adopting a western lifestyle.

2. % They often go to restaurants for a meal.

3. ® They have started wearing new clothes.

4. % They are forgetting their old ways of life.

Question Id : 25498921031 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Question Numbers : (53 to 57)

faT 7T ey ) Ui 3R ISP TIe 3 I Ul P IR T
9 & TRBR

ft 3o AR % fore O g B o o €1 =W % ST, UWR A, i, TS e ok
HU YT S § 9 & IR A AR g | gt ok I gt & a4 9 & o/ 93 SfahR g
o & i1 ST & SR had ITANT g1 el IR gax W1 € 1 I8 U SAfIH Foract bR 3R Wi
& o U= & U B

T Ui < & a8 AT Sfash Rl # T U § | Tl s dvg &1 Uail §1d § | 99 &) 6 Ui
Tt S U, WIHaRT U, ST UaT, 3M1fS € | 9 H, UciTaTel! o7 Ted 3fesT HiaH add ¢ | 3fiid
I Iwad Id D IR, AT U Taoli BT T HRd & SR R TdT ISTd & | TaTaren 9 &
RS & G Ao qreHi 7 9 U ¢ |

T R G raii 7§ ¥ U 81 & A1d 9 § s AIgR HAE 9Td 8 | 98 Heheqd Jord QR 3R I
HE@yUl IR & | 91 9 a4 & {39 ¥ IR g I8 15 el d A SIra g | @1 -1d 98 &1 gd ge
TR UTRATRS IS PT S 6 & | 79 I & o d 30 aRams R gIg fudhid § 3R Jerd 9ad & |
59 T ATeTeT TER TR AT 8 1 A7 Y, T TR A1dc ¥ 30+ R J9ld ¢ | S4d & GRM, I
ST O ISTd § SR TaTaTSlt &1 UfaaifRdnsil &1 3o #vd & |

3Tl A 95 8T 8| T AT Sfia & 301 RIA dR1p 31 T8 &1 T 3NYfie it Ui} pus ugdn
2 3R ufErft Qeft b rarétie & Tgar g1 A H TS 3ARG, YRt 3R 3y Iomnt

Sub questions

Question Number : 53 Question Id : 25498921032 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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=it ] o sRa fhddh forg S ST 82
Options :
1. ¢ 30 7 3R Ued & fam|
2. % TGP g fafaedr o fer)
3. % 3 Il IdTe & forg|
4. % Ug% 4 & fow

Question Number : 54 Question Id : 25498921033 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T BT a8 BT IR DI IT 52
Options :

1. % R "

2. % fUifeT

3. Odi

4. % HUN

Question Number : 55 Question Id : 25498921034 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
9 & T R AIER B 1 82
Options :

1. % dTcic Helqd

2. ¢ 9Hd Hglcd

3. % Y I%9d Heldd

4, % TSl HEIAd

Question Number : 56 Question Id : 25498921035 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TRORT & AR T UcTTaTel &d B 62
Options :

1. % 79 99 &1 g T IR

2. % ATAC AGR & GRH

3. % AU & faA

4. ¢ 30 Ydoll &I M ¢ & §1G

Question Number : 57 Question Id : 25498921036 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

fraferfed o 9 oar axifar 8 fob < enyfe gid w1 3E 82

Options :

1. ¢ 9 ufgedt Sita el DY ST R B
2. % 3 TR HIvH & oI Wi 91 B
3. % U HYS Ug A B

4. % 3 3TN R SRl B YA R B

QUANTITATIVE APTITUDE

Section Id : 2549895911
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895952
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498914277 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the approximate value of the given expression?
(Note: you are not expected to calculate the exact value)

4563 ~ 63 x 2.5
Options :
1. % 165
2.9 180
3. % 155
4. % 200

Question Number : 58 Question Id : 25498914277 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : (

Correct Marks : 1 Wrong Marks : 0
& 7T ST BT AU HH T 62
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(e MU TP HH &1 0T 78! B 8)

4563 ~ 63 x 2.5
Options :
1. % 165
2.9 180
3. % 155
4. % 200

Question Number : 59 Question Id : 25498928843 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the number from among the given options that can replace the question mark (?) in the following
series.

9,19, 40, 83, ?, 345, 696
Options :
1. % 162
2.% 170
3. % 175
4., % 166

Question Number : 59 Question Id : 25498928843 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fau ¢ fasmeul O ¥ 98 T g Sl Rafeiyd gad & uydre g (2) 1 ufawiiid & 9o |

9,19, 40, 83, ?, 345, 696
Options :
| % 162

R
; % 175

, % 166

Question Number : 60 Question Id : 25498928893 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Select the option that can replace the question mark (?) in the given equation.

4003 x 77 —-21015=? x 116
Options :
1. % 2477
2. % 2478
3. % 2467
4. % 2476

Question Number : 60 Question Id : 25498928893 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fou e gt & ufg (2) R WR DI It TGe 3w

4003 x 77 = 21015=7 x 116

Options :
1. % 2477
2. % 2478
3. % 2467
4. % 2476

Question Number : 61 Question Id : 25498928928 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : (

Correct Marks : 1 Wrong Marks : 0

A 320 metre long train crosses a pole in 50 seconds. What is the speed of the train in metre/second?
Options :

1. % 4.6

2.% 72

3.% 54

4. 6.4

Question Number : 61 Question Id : 25498928928 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : (

Correct Marks : 1 Wrong Marks : 0

320 Hiex Tell Ueh YS! U TH Bl 50 Vs H UR Hal g | IS ! A1t HieyAdbs | J1d HIfog|
Options :

1. % 4.6

2. % 72

3.% 54

4.9 6.4
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Question Number : 62 Question Id : 25498928956 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The ratio between the speeds of two trains is 7 : 8. If the second train runs 400 km in 4 hours, then the speed
of the first train is:

Options :

1. * 70 km/hr
2. # 75 km/hr
3. ¥ 87.5 km/hr
4. % 84 km/hr

Question Number : 62 Question Id : 25498928956 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&l ¢l @1 TIfd & S T SUTd 7 : 8 B 1 Al GERI ¢ 4 °¢ | 400 fe g &, @ Ugel ¢ &1 7T
forat g2

Options :

1. * 70 km/hr

2. % 75 km/hr

3. % 87.5 km/hr

4. % 84 km/hr

Question Number : 63 Question Id : 25498929618 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If (1 + tanA tanB)? + (tand — tanB)? = R?, then R is equal to:

Options :
| ® secA + tanB

, % SecA —tanB

3 « SecA secB

4 % SecAtanB

Question Number : 63 Question Id : 25498929618 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
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Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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T (1 + tand tanB)? + (tanA— tanB)? = R? g, ar R &rues seT gem?

Options :
1. % secA + tanB

) % secA - tanB

3 SecA secB

4 % SecA tanB

GENERAL MENTAL ABILITY AND REASONING

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :
Display Number Panel :

Enable Mark as Answered Mark for Review and Clear

Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 64 Question Id : 25498912853 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : (

Correct Marks : 1 Wrong Marks : 0

2549895912
4

Online
Mandatory
6

6

6

Yes

Yes

0

1
2549895953
Yes

frafafad soawn & aFYEa® Ue 3R 39% A el T ug ST R <

MIESRB3AK7£#98UDIN46%FH2@8W

IRIFd TR H T fobd TR &, o8 A TP & Slh Ugd T Udiop 3R 3lh §1¢ Uh ol 82

Options :
1. % dF
2. ¥ Uh
3. % dR
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4. % U

Question Number : 64 Question Id : 25498912853 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : (

Correct Marks : 1 Wrong Marks : 0
Study the following arrangement carefully and answer the question that follows.

MIESRB3AK7£#98UDIN46%FH2 @8 W

How many such vowels are there in the above arrangement, each of which is immediately preceded by a
symbol and immediately followed by a consonant?

Options :
1. % Three
2. % One
3. % Four

4. % Five

Question Number : 65 Question Id : 25498912867 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

%ﬂﬁaﬂggﬁ 31&R1 & U e Siig 8, o 8 Udeh & offd I g 31&R g fora sl qufaren &

BRIGHTER
Options :

1. ® U

2. % T

3. ¢ oA

4, % TR

Question Number : 65 Question Id : 25498912867 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find out how many such pairs of letters are there in the given word each of which has as many letters
between them in the word as in the English alphabet.

BRIGHTER
Options :
1. # One
2. * Two
3. ¥ Three

4. # Four
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Question Number : 66 Question Id : 25498918972 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1T T ¥ THh-Uh Teg 1 994 B 39 [Adhed SIg H1 T8 B Sl Ud Ueq-H & IFU |

I AIAIAIRAS) :: ARIER) : 11

L (1) SA(REH) (2) BRI (3) BA(TAIR) (4) FTHA(EIR)
L (A) TR (B) THH (M) (C) () (D) I
Options :

1. # 3C
2.9 3A
3. % 2D
4. % 4B

Question Number : 66 Question Id : 25498918972 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following pair, find two words related to the words already given — one word for each of the two
related pairs.

I: Garland :: Star : 11

I. (1) Perfume (2) Hero (3) Flower (4) Honour
II. (A) Galaxy (B) Shine (C) Sun (D) Night
Options :

1. % 3C

2.9 3A

3. % 2D

4. % 4B

Question Number : 67 Question Id : 25498919664 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option in which the words share the same relationship as that shared by the following words.

Music : Guitar : Performer
Options :

1. # Dance : Tune : Instrument
2. % Food : Recipe : Cook

3. # Patient : Medicine : Doctor
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4. % Trick : Rope : Acrobat

Question Number : 67 Question Id : 25498919664 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3 facheu &1 9u B3 FOrH Weg a8 JaY I HRd & o MAffad Yeal gRT I8 fhu MU §|
GifidEfor®) : fIeR : SEHR(IRBIFR)

Options :

1. # (SN : YA(EL) : TEHAEHS)

2. % UH(FS) : ToMaRIRRad : Sadi@®)
3. % IF(URIe) : qaR@fSR) : Rifva®d @)
4. ¢ IAd(feh) : TRNRMY) : HATETSI(ThIET)

Question Number : 68 Question Id : 25498919949 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Four words have been given, out of which three are alike in some manner and one is different. Select the one
that is different.

Options :
1. # Distress
2. % Anguish
3. ¥ Ease
4. % Trouble

Question Number : 68 Question Id : 25498919949 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1 fased! § R Teg T MU & fr8 @ i fop et vepR § uep 9 B, Sfafeh b 379 R 81 39 i
eg DI Ugd B |

Options :

1. % Jaefewew)

2. % ISN(@IEa)

3. ¢ RT3

4, % TRRIHI(CH)

Question Number : 69 Question Id : 25498927868 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Select the option that is related to the third word in the same way as the second word is related to the first

word.

Scribble : Write :: Stammer : ?
Options :

1. * Walk

2. % Play

3. ¥ Speak

4. % Dance

Question Number : 69 Question Id : 25498927868 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

g &l Yoa] & S BIs JaY g1 39 e [Ahed T Tg7 P OrhT TR Weg J AT 81 T g

3y g (F&pad) : foramT R13e) - ghdllge (KA ) : 2

Options :

1. % g (dih)
2. % WaHTl (W)

3. ¢ Sia (i)
4, % AT (ST)

GENERAL AWARENESS
Section Id : 2549895913
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Yes
Response :
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895954
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 2549899793 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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What is the correct sequence of the given events?

1. Rowlatt Act

2. Gandhi—Irwin Pact

3. Morley-Minto Reforms
4. Ilbert Bill

Select the correct option by using the given codes.
Options :

1. % 1-2-4-3

2.9 4-3-1-2

3. % 4-1-3-2

4. % 3-4-1-2

Question Number : 70 Question Id : 2549899793 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frafafad gersi &1 9t srIhd R 2

1. clc Tae

2. Tieht-SR g dae)
3. Aic-fHel gurR(Rw i)
4. 39 fod

I AU 7T PIe 1 TN HReh gl IR I |
Options :

1. % 1-2-4-3

2. 4-3-1-2

3. % 4-1-322

4. % 3.4-1-2

Question Number : 71 Question Id : 25498912528 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : (

Correct Marks : 1 Wrong Marks : 0

Biodegradable wastes can usually be converted into useful substances with the help of:
Options :

1. ¥ bacteria

2. * nuclear proteins

3. * radioactive substances

4. % viruses

Question Number : 71 Question Id : 25498912528 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
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Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

o ezt (Biodegradable) YRS B =G &l fcg T ol uerf & ufafda farar
S 9HhaT 5 |

Options :

1. ¥ Sacitear

2. % YRR UIcH

3. % YSTfdea yerf(Ese )

4. % JIIY

Question Number : 72 Question Id : 25498912756 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Against which team did Tendulkar score his 100t International Cricket Century in one-day matches?
Options :

1. % Pakistan

2. % England

3. # Australia

4. ¥ Bangladesh

Question Number : 72 Question Id : 25498912756 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Hfe dgae? - U faaddia Fal 7 oo 1001 SIRRTS fobdse =1de fovd 1 o T s um
Options :

1. % Ulichedr

2. % i

3. % 3ffecfer

4. & AT

Question Number : 73 Question Id : 25498932497 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who among the following is called the Father of Green Revolution?
Options :

1. ¥ MS Swaminathan

2. # Verghese Kurien

3. # Hiralal Chaudhuri

4. % Sam Pitroda
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Question Number : 73 Question Id : 25498932497 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Rd Sifa &1 9 Fafafad § 3 5 Ha1omdr g2
Options :

1. ¥ TH.TH. WHAYA

2. % Fiffd pRem

3. % gRIaATd e

4. % 0 fUeAeT

Question Number : 74 Question Id : 25498932509 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Food Corporation of India was setup under the Food Corporation's Act
Options :

1. % 1955

2. % 1960

3. ¥ 1964

4. % 1970

Question Number : 74 Question Id : 25498932509 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

YR W1 374 (FCT) &1 =419 @ e sifdfaw & dgd &1 715 AT
Options :

1. # 1955

2. % 1960

3. ¥ 1964

4. % 1970

Question Number : 75 Question Id : 25498932570 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the guardian of fundamental rights enumerated in the Constitution of India?
Options :

1. ¥ Supreme Court

2. * Parliament

3. * High Court
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4. % President

Question Number : 75 Question Id : 25498932570 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A

https://g01.tcsion.com/CAE/viewHtmIPDFAction.action

Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

R Tfgem & Aifere AfeR! o1 WRere g aftfa frar mar g2

Options :

1. ¢ Hdied e
2. % qUq

3. % 3 Yy

4. % yufd
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Question Shuffling Allowed : No

Question Number : 76 Question Id : 25498941039 Question Type : TYPING TEST Display Question
Number : Yes Calculator : None

Summer camps are supervised camps conducted to entertain as well as equip students with various life
skills such as teamwork, socializing, decision making, independent and responsible living and more. It

aids the overall development of a child and children have fun during this process as they get to explore

new arenas.
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Keyboard Layout : Inscript
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Show Error Count : Yes
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Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895956
Question Shuffling Allowed : No

Question Number : 77 Question Id : 25498937228 Question Type : TYPING TEST Display Question
Number : Yes Calculator : None

All the cells and organs of the body need water to function properly. Here are some reasons our body
needs water. It polishes the joints. Cartilage in joints and the disks of the spine contains around eighty
percent water. Long term dehydration can reduce the joints shock absorbing ability, leading to joint
pain. It forms saliva and mucus. Saliva helps us digest our food and keeps the mouth, nose, and eyes
wet. This prevents friction and damage. Drinking water also keeps the mouth clean. It delivers oxygen
throughout the body. Blood is more than ninety percent water and blood carries oxygen to different
parts of the body. It boosts skin health and beauty. With dehydration, the skin can become more
unsafe to skin disorders and wrinkling. It protects the brain, spinal cord, and other sensitive tissues.
Dehydration can affect brain structure and function. It is also involved in the production of hormones
and neurotransmitters. Prolonged dehydration can lead to problems with thinking and reasoning. It
controls body temperature. Water that is stored in the middle layers of the skin comes to the skins
surface as sweat when the body heats up. It cools the body as it evaporates. Some scientists have
suggested that when there is too little water in the body, heat storage increases and the individual is
less able to manage heat strain. Having a lot of water in the body may reduce physical strain if heat
stress occurs during exercise. However, more research is needed into these effects. The digestive system
depends on it. The bowel needs water to work properly. Dehydration can lead to digestive problems,
constipation and an overly acidic stomach. This increases the risk of heartburn and stomach ulcers. It
releases body waste. Water is needed in the processes of sweating and removal of urine and feces. It
helps maintain blood pressure. A lack of water can make blood thick and increase blood pressure. The
airways need it. Airways are restricted by the body in an effort to minimize water loss when you
become dehydrated. This can make asthma and allergies worse. It makes minerals and nutrients
obtainable. These dissolve in water which makes it possible for them to reach different parts of the
body. It prevents kidney damage. The kidneys manage fluid in the body. Insufficient water can lead to
kidney stones and other problems. It boosts performance during exercise. One review found that
dehydration reduces performance in activities lasting longer than thirty minutes. Weight loss. Water
may also help with weight loss, if it is consumed instead of sweetened juices and sodas. Water before
meals can also help prevent overeating by making you feel like you are full. It reduces the chance of a
hangover. When partying, unsweetened soda water with ice and lemon replaced with alcoholic drinks
can help prevent over consumption of alcohol. Water is important to nearly every part of your body.
Not only will sufficient water intake help you maintain your current state of healthy lifestyle, it may
even improve your overall health.
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Question Number : 79 Question Id : 25498944391 Question Type : TYPING TEST Display Question
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